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Arithmetic Problem

1. Bobby use 40% of his monthly allowance for his video game and 50% of the remaining amount
for lunch. If he spends $ 13.5 for lunch, how much does he pay for the games in cent?
(1) 1800 (2) 240 (3) 350
(4) 400 (5) 450

2

. 20 Students received a 90 on a math test. 30 Students got 100 on the same test. The class average

(arithmetic mean) is

(1) 92 (2) 94 (3) 95
(4) 96 (5)98

3. Which of the following numbers is greater than 0.428?
(1) 0.053 (2)0.42 (3)0.43
(4)0.419 (5)0.4228

4.1fX = ¥, which of the following can be the value of x?
a

L I 0 m. L
a a
(1) I only (2) I only (3) IIT only

(4) IT and IIT only (5) L. II and ITI




5.1.3.6.10.15.... What is the 10” of the sequence?

(1) 40 (2) 50 (3) 35
4) 61 () 72
x(x*?)
6. —t
_\'b
) () Q) x* (3) x*24
(4) ‘a~i (5) _‘ah—b

7. A computer program randomly selects a positive two-digit number. If the number selected is odd, twice that

number is printed. If the number selected is even, the number itself is printed. If the number printed is 26 ,

which of the following could have been the number selected?
I13 1126 III 52

(1) I only (2) II only (3) I and II only

(4) I and 11 only (5) 1, II and III

8 (-0 (1) ) - 2 1 ) 1) =

(1) -9 (2) -1 3)0
4) 1 (5) 9
4 1
773
1T
A
(1) 15 2) 1 (3) 0




10.Ifn+n+n+n+1=2+n+n+n, whatis the value of n
(1 (2)2 (3)3

(4)4 (5)7

11. A solution is made by mixing concentrate with water. How many liters of concentrate should be mix with 2
liters of water so that 32 percent of solution is concentrated?
(1) 0.94 (2) 1.94 (3)2.94

(4) 3.94 (5)4.94

12. There are 13 female student for every 12 female students. How many male students are there in a group of
200 students?
(1) 48 (2) 64 (3)72

(3)82 (5)96

13. When 247 is divided by 6, the remainder is r, and when 247 is divided by 12, the remainder is s. What is the
value of r —s ?
(1)—6 (3)-1 (3)o

41 (5)6

14. (3.\': ]3{2.\' )
(1) 6" (2) 6x1° (3) 72x1°

(4) 72x" (5) 5x*

15. Maria answered all the problem on her math test. She answered 80 percent of the problems correctly. If she
answered 6 problems incorrectly, how many problems were on the test?
(1)24 (2)30 (3)36

(4) 48 (5) 86




16. I.D. want to get an 4 in math. 4 90 average is needed. J.D. has grades of 87,79 and 96 on the first 3 test.

What does J.D. need for an 4 average?
(1) 88 (2)92 (3)9¢6

(4) 98 (5) An A4 is not possible

17. What is the least positive integer that is a multiple of 4, 15 and 18?

(1) 30 (2) 60 (3) 180
(4) 360 (5) 1,080
18. 250 =8% x=
(D15 (2 75 (3) 5
4) 2% (5) 20

19. If » 1s any negative number, which of the following must be positive?

(1) % (2) 2n (3) n+2
4) n-2 (5)2-n
80+ 2x
20. g2 is equivalent to
(1) 10+ 2x 2) 80+ @ 2=
4 4
@ ok (5)10+%

-
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(a—b)(a+b) a’-b’
(a+d) a’ +2ab+b*
(a-b) a’ —2ab+b*
(a+b+c '}: a’ +b* +¢* +2ab +2bc + 2ac
[n'+£)]3 a +3a’b+3ab’ + b’
(a® +b°)+3ab(a+b)
(a=b ]3 a’ —3a’b+3ab’> - b

a+b’ (a+b)(a’—ab+b*)

a-b [(:r—b}((.rl+nb+bl}

2. aumsmasansved 1 als (Quadratic Equation of One Variable)
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1) (c—a)x—b)=0: a0l Ao

2) (x—a)x+b)=0: A0 AD

3) (x+a)(x—b)=0: A0l fiD

4) (x+ a)(x+ b) =0 : MADU AD

Y o :
POFIUNE

5) (ax—b)ex—d)=0: fiaoll Av

6.) (ax — b)(cx +d) =0 : Aol AD

7) (ax +b)ex—d) =0 : 1Al AD

8.) (ax + b)(cx +d)=0: Aol Av

3. szuuaumII Ay 2 Ay (System of Equation With 2 Variable)
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Algebra Problem

1. If ¥’ +1* =35 and xv =12, what is the value of (.\'—_1.‘]2 ?
(1) 11 2) 21 (3) 35
4) 47 (5) 59

2. x’+1lx+14=0 Which is the largest?

(1) x> +11x

4)0

a+b+c

3. H

_a+b

(2) x(x+11)
(35) 14

.then C=7?

(l) a—

a+b

(2

(3) —a->

(3) -14

(3) 5a+5b

4. Bob can paint m houses in s hours, Jack can paint 7 house in 7 hours. Which of the

following gives the number of houses that Bob and Jack can paint together in 50 hours?

50(m+n m+n S0(mt+ns
(D [7) (2) S 20{mi +1s)
50st st
50 g
()] = (5) 50(ms +nt)
S+r
5. What are all solutions to the equationx” —4x=07?
(1o (2) 4 3 -4

4) 0.4 (5) 0,4,4




6.

If(x—» )* =50 and xv =7, what is the value of x* + y*?
(1) 8 (2) 36 (3) 43
4) 57 (5) 64

In a class of 60 students, the number of boys is twice the number of girls. Which of the
following accurately describe the situation?

(1) b+2g=60,b-g=60 (2) b-sg=0,b+g=60 (3) 2b-g=0,b+g=60
(4) b+g=060.b+2g=0 (5) b+2¢g=60.b-2g=0

If [ £+ | =16, then K + Lo
\ k) Kk’

(1) 4 (2) 8 (3) 12

4) 14 (5) 18

x+2y=4; 2x+2y=06. Which is the largest?
(1) 2+7y ) +* (3) 3x+2v

(4) 10¥ (5) 5x

If the son of a number and the original number increased by 5 is greater than 11 which
could be a possible value of the number?

(1) -5 @ -1 31

4) 3 (5) 4




. g : : :
11. T weigh 9 kg more than I did a year ago. My weight then was 10 of my weight now,

how much did I weigh then?
(1) 72 (2) 81 (3) 90

(4) 99 (5) 108

12. (4a+a-3)(4b-2b-Db)="
(1) 2a-b (2) 2ab-2b (3) Sab-b

(4) Sab-3b (5) 3ad

13. ¥’ +2x*-35x=0. then x=?
(D)o (2) 5.-7 (3) 5,7
(3) 0,5,—7 (5) 0,-5.7

14 If (x+3)(x+5)—(x—4)(x—2)=0. then x=?

(1) -2 @) - (3) 0
) % ) 2

15. I buy a table tennis racket and one can of balls for $42. My friend buys the same
racket and two cans of balls for 45%. How nuch does a racket cost?
(1) $39 (2) $40 (3) $41
(4) $42 (5) $45




16.

If a(x+ y) =0, then which of the following statement is (are) always true?

L »* - I y=0 I x=y
(1) I and II only (2) I and IIT only (3) IT and IIT only
(4) None

. b* =¢?. Which must not always be 0?
(1) b*+¢° (2) (b+c)(b-c) (3) (c+b)(c-b)
(4) b(b—c)—cle—D) (5) b+e

- i 16 a 2 : 5 . >
.If —=— and —==. what is the value of 3b+¢ n terms of a?
c J
(1) 12a (2) 9a (3) 8a
(4) 6a (5) 4a

. A 50-cm piece is cut into 3 pieces: The first is 3 cm shoter than the second. and the

third is 4 cm shorter than the first. The length of the shortest piece is

(1) 10 (2) 13 (3) 15
(4) 17 (5) 20
JIf azb and a ;b_ =@ +b. then what is the value of a—567?
l - -
(1) 3 23 3)9

@ 12 (5) It cannot be determined from the information given.




=
. 13UAUA ( Geometry )

¥
ludoaau CU - AAT 11U deaoudnuavadiea Jaszue .. H9 910 ... 10 1

=
]

0

3 1 = 3
Uszinar .. wesdodoudIuAUAMAASTIIHLA 1. IFUASI 1Az W
Geometry Problem

1. B is the midpoint of line segment 4C, and E is the midpoint of the midpoint of the
segment BC . If the point D is between 4 and B such that the /ength of DE is 6 and

the length of segment DC is 10.then what is the length of segment 4D ?
(1) 4 (2) 6 (3) 8

(2) 10 (5) 16

(4) 80°

(5) 90°

If, in the figure above, /, ||/, and BC bisect Z4BD, thenx=?

(1) 75 (2) 95 (3) 105

(3) 115 (5) 150




4, W

o/

b £

c

/’ "

Note: Figure not drawn to scale.

In the figure above, / ||m. Which of the following is not equal to 110°?

(1) a () b (3) e
4 d (5) e
5.
B
3 5
A c

Note: Figure not drawn to scale.

Which of the following CANNOT be the length of AC?
(1) 3 @)5 (3)6
@7 G)8

6.

B

(1) 2 23 (3) 4

(4) 6 (5) It cannot be determined from the information given.




B 4 C
Note : Figure is not drawn to scale.

In the figure above, what is the length of side 4B ?
(1)> (2) 6 3)9
(4) 10 312

¢

o R

Note: Figure not drawn to scale.

In the figure above, the length of each side of quadrilateral OPQOS is8. If mZR =90",

what is the area of quadrilateral OPOR ?

(1) 3243 ) 36y3 (3) 4043

4) 4443 (5) 483
9. /.,
¥y
The area of the rectangle 1s /. v =
7 22 3
(1 —- @ = ©OF
22 7 7
7 2
@ - 5 7
3
10. E
B C
A D

In the figure above, ABCD is a parallelogram with 4B= BE = EC . If the area of right

triangle BEC is 8, what is the parameter of polygon ABECD?
(1) 16+8V2 Q) 12+8V2 (3) 16+ 442
(4) 20 (5) 16




1.

je}
AT RXHm

Center is O.AB =2.A4B is diameter. Area of shaded sector is

a Fi g T
(1) = Q) — 3) =
12 8 6
T T
(4) ) —
4 3
12.
Note: Figure not drawn to scale.
If the figure above. the radius of the circle with the center ¢ is three times the radius of
the circle with center p . Which of the following is the area of the circle with center p
if pgis 12?7
() 4= (2) 97 (3) 167
(4) 24~ (5) 247
A
13 c 5
0 E/B
The circle in the figure above has center O. If the area of square OCDE is 2, what is
the length of arc ABD
(1) 47 (2) 2n (3) 27
4) (5) It cannot be determined from the information given.
i_‘ i .
B
C
A D

1
In the rectangular solid above, AD=6. CD =8, and BC =—CD. What is the volume

of the solid?
(1) 18 (2) 144 (3) 192

(4) 208 (5) 384




15. The length, width. and height of a rectangular solid are in the ratio of 3:2:1. If the
volume of the box is 48, what is the total surface area of the box?
(1) 27 (2) 32 (3) 44

(4) 64 (5) 88

For Problems 17 and 18 Refer to the figure in the margin,

3

16. If the line whose equation is y = x+ 2k passes through point (1. —3). then k=?
(1) -2 (2) -1 3)1

2 () 4

17. The perimeter of the figure is
(1) 29 (2) 58 (3) 36

(4) 54 (5) 72

18. The area of the figure is
(1) 80 (2) 68 (3) 60

(4) 50 (5) 40

19.

A C

\()/

In the figure above. B is the center of?he larger circle. The smaller circle is tangent to
the larger circle at D and contains point B . If the length of diameter AC is 12, what
is the area of the smaller circle?

(1) 67 (2) o7 (3) 127

(4) 167 (5) 367




O is the center of the circle. CO = 6. The area of the shaded part =24.£x=

(1) 15° (2) 30¢ (3) 45°
4) 60r (5) 100°
d v
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GLOSSARY & SYMBOL
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ENGLISH FOR MATH

11301146121aY ( Reading Number )
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J
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WHHUIT MO TUDA ( — )

I = 1
WEHHIaUTau ( — )

¥ = ) 5
IWEHIAUTIauasd ( ; )

- = 2
AT UAD AN ( 32.15)

o =
quaqmma( 0.1)

FUEYARUENI ( 0.01 )

a

fudyAdauiIg ( 0.2929... )

AMIUDINATLOY 4 AU

¥ ) = 4
Augamulaauilad (0.35848484..)

the unit digit
the tenth digit

reach the nine — figure mark

one third
one twenty — oneth
one thirtieth

five — thirty seconds

thirty — two point one five

zero point one

zero point zero one

zero point twenty — nine recurring
calculate down to four places of decimals

zero point three five eighty — four recurring
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aM%ia ABC

fiasy ABCD

AHAVUAIMYUIY ABCD

33 A
331 AOB
d1ulds 4B

d1uvouduAIy 4B

& o d
INFOININIY AT atyand ( Symbol)

I

AABC

OABCD

OABCD

ZAOB

&)

aquals

is equivalent to

is nearly ( approximately) equal to
equals

is not equal to

plus

minus

times , multiplied by
divided by

is greater than

1s less than

is greater than or equal to
is less than or equal to
is pararell to ( with )

is perpendicular to
infinity

is to

therefore

because

the absolute value of a
the square root of a

the cube root of a
a to the one — four power
n factorial

triangle 4BC
quadrilateral ABCD
pararellogram ABCD
angle 4

angle AOB

arc AB

line seqment AB




a Alpha
B Beta

4 Gamma
o Delta

£ Epsilon
n Eta

e Theta

7, Mu

@ Omaga
A Lambda
abscissa

acute angle
adjacent

algebra

algebraic expression
area

arithmetic mean
axiom

axis

base

binomial theorem
bisector

bracket

cancel down
calculation

circle

Tey

s ¢

and¥d ( Greek Symbol )

i

Xi
Omicron
Pi

Rho

Sigma
Tao

Phi

Nu
Upsilon
Psi

o i = ¢ o W
Annaamansainy ( Glossary )
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circumference
co - ordinate
coefficient
column
common factor

common multiple

completing the square
component
cone
congruent
conjugate
constant
constant term
conversion factor
cube
cubic equation
cubic root
cumulative frequency
data
decimal
decimal point
decimal system
decrease
definition
degree
denominator
diagonal

diameter
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dispersion

distance

dividend

division

divisor

edge

ellipse

enlargement

equation

equation of n—th degree
equilateral triangle
even number

event

expand

expansion

exponent

expression

exterior angle
extraction of cubic root
extraction of square root
factorize

factorization

finite decimal

formula
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frequency table
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general term
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graph
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hexagon

horizontal

hypotenuse

increase

index number ( indices )
inequality

infinite decimal
infinitesimal

infinity

inscribe in ...

integer

intercept

interior angle

inverse proportion
irrational number
irreducible fraction
isosceles triangle
known quantity
greater common denominator (G.C.D )
least common multiple( L.C.M )
length

linear equation

literal equation
measurement

median

method of elimination
method of substitution
midpoint

mode

monomial

mutual division
natural number

negative number
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rearranging formula
reciprocal
rectangle
recurring decimal
reflection
regular polygon
right triangle
root
rotation
rounding off number
Iow
same sign
sample
sequence
set
series
shift
side
similar shapes
similar triangle
simplify
simultaneous equation
slope
solid
solve an equation
sphere
speed
square
square number
square roof
standard deviation
standard form

stretch
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substraction
sum
symmetry
tangent line
term

the quadratic formula
transformation
translation
tree diagram
twice
transposition
trapezoid

unit
unknown term
variance
variation
volume

vertex

vertical
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